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WOMEN'’S STUDIES
PAPER—-1I

Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

1.  Which state in India has the highest female work participation rate according to the
2001 census ?

(A) Himachal Pardesh (B) Mizoram
(C) Maharashtra (D) West Bengal
2. Which state of India has the highest number of districts with the lowest sex ratio in

the age group of 0-6 years ?

(A) Haryana (B) Bihar
(C) Rajasthan (D) Punjab
3. Who was the first woman legislator of Pre-Independence India ?
(A) Sarojini Naidu (B) Raj Kumari Amrit Kaur
(C) Muthulaxmi Reddy (D) Annie Besant
4.  Reservation for women in urban local governance was introduced by which
consititutional Amendment ?
(A) 72nd (B) 73rd
(C) 74th (D) 86th
5. The indecent Representation of women (Prohibition) Act was passed in :
(A) 1978 (B) 1986
(©) 1995 (D) 2000
6.  In which Five Year Plan was a separate chapter on Women and Development
introduced for the first time :
(A) Second (B) Fourth
(C) Sixth (D) Ninth
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7. A wife is entitled to what part of the property of her husband after divorce :

(A) One - Third (B) Half
(C) One - Fourth (D) Nil
8.  Chipko movement is an :

(A) Environment Movement
(B) Anti - Liquor Movement

(C) Anti - Displacement movement
(

)
)

D) Anti - Child Labour Movement
9.  Convention on Elimination of All Forms of Discrimination Against Women (CEDAW)
was ratified by India in :
(A) 1983 (B) 1979
(C) 1993 (D) 1995

10. Who was the first Indian woman to become the President of the General Assembly of
the United Nations ?

(A) Kamla Nehru (B) Sarojini Naidu
(C) Vijaya Laxmi Pandit (D) Sucheta Kriplani

11. Which one of the following cases is related to an incident of custodial rape ?
(A) Sathu Rape Case (B) Mathura Rape Case
(C) Tandoor Case (D) Bhanwari Devi Case

12. The cause of Women's oppression according to radical feminists is :
(A) Class (B) Caste

(C) Patriarchy (D) Women are the enemies of women

13. JS. Millisa:
(A) Liberal Feminist (B)  Socialist Feminist
(C) Radical Feminist (D) Not a feminist

14. Indian Association of Women's Studies was set up in they year :
(A) 1981 (B) 1975
(©) 1995 (D) 1985
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15.

16.

17.

18.

19.

20.

21.

One of the major causes of high maternal mortality rate in India is :
(A) Anaemia Among Women (B) Carelessness of doctors

(©) Iliteracy (D) Adolescent pregnancies

Which country granted women the right to vote in 1893 ?
(A) USA (B) France
(C) New Zealand (D) Australia

The Shram Shakti Report deals with :

(A) Women in the organised Sector

(B) Women in the Unorganised Sector

(C) Unemployed Women

(D) Women in the administrative Service

The first woman who called for International Women’s Day in 1910 was :

(A) Margret Cousin (B) Aruna Asaf Ali
(C) Clara Zetkin (D) Lucy Stone

The SAARC Decade for the Girl Child was :
(A) 1961 - 70 (B) 1991 - 2000

(C) 1971 - 80 (D) 1975 - 85

Feminism dismantles all systems of :

(A) Conformity (B) Complicity

(C) Tradition (D) Domination

Assertion (A) : Women’s Share in household power in decision making is lower
than men.

Reason (R) : Women’'s Share in household income is lower than men.

(A) Both (A) and (R) are true.

B) Both (A) and (R) are true, (R) is the correct explanation for (A)
Both (A) and (R) are false

(A) is true (R) is false
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22. Assertion (A) : India is one of the countries having highest malnutrition among
the children.

Reason (R) : More than half of the people in India live below poverty-line.

(A) (A)is true (R) is false

(B) Both (A) and (R) are true.

(C) Both (A) and (R) are false

(D) (A) is false (R) is true

23. Assertion (A) : Women’s Spending power has raised marginally over a couple

of years.

Reason (R) : The self help Group movements have raised household income
of women.

(A) Both (A) and (R) are ture

(B) Bot (A) and (R) are true. (R) is not the explanation for (A).

(C) Both (A) and (R) are true, (R) is the correct explanation for (A).

(D) Both (A) and (R) are false.

24. Assertion (A) : Female Sterilization has been the most frequently used
method of contraception in India.

Reason (R) : Male Sterilization leads to impotency.

(A) Both (A) and (R) are true

(B) (A) is true, (R) is false

(C) Both (A) and (R) are false

(D) Both (A) and (R) are true, (R) is not the correct explanetion for (A).
25. Assertion (A) : Women'’s Participation in the Public world is lower compared

to men.

Reason (R) : Women are by nature less intellectual.

(A) Both (A) and (R) are false.

(B) Both (A) and (R) are true.

(C) (A) is true, (R) is false.

(D) (A) is false (R) is true.
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26.

27.

28.

29.

Assertion (A) : Motherhood is an alienating experience for women.

Reason (R) : Some one else, decides how many children women ought to
bear.

(A) Both (A) and (R) are ture, (R) is the correct explanation for (A).

(B) Both (A) and (R) are false.

(C) (A) is true, (R) is false.

(D) (A) is false and (R) is true.

Assertion (A) Childless women face humiliation and abandonment.

Reason (R) : Infertility is mainly due to women’s health problem.

(A) Both (A) and (R) are ture

(B) (A) is true and (R) is false.

(C) Both (A) and (R) are false.

(D) (A) is false (R) is true.

Assertion (A) Women face difficulty to get better jobs and to move up the
professional ladder.

Reason (R) : Women get fewer opportunities for education and skill training.

(A) Both (A) and (R) are false

(B) Both (A) and (R) are true.

(C) (A) is true and (R) is false.

(D) (A) is false and (R) is true.

Assertion (A) Maternal mortality in India is one of the highest in the world.

Reason (R) : Women have poor access to medical facilities.

(A) (A)is true and (R) is false

(B) (A) is false and (R) is true

(C) Both (A) and (R) are true

(D) Both (A) and (R) are false
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30. Assertion (A) : Capitalism is a system of exploitative power relations.
Reason (R) : Employers pay workers less than their labour power.

(A) Both (A) and (R) are ture, (R) is the correct explanation for (A)

(B) Both (A) and (R) are true
(C) Both (A) and (R) are false
(D) (A) is true (R) is false

31. Find the correct sequence of the following Act :

(A) PNDT; Dowry prohibition Act; Sati Prevention Act; Sarada Act.

(B) Sarada Act; Sati Prevention Act; Dowry Prohibition Act; PNDT
(C) Sati Prevention Act; Sarada Act; Dowry Prohibition Act; PNDT
(D) Dowry Prhibition Act; PNDT; Sarade Act; Sati Prevention Act

32. Identity the correct sequence of the following chair persons of the National Commission
for women :

(A) Mohinigiri; Vibha Parthasarathy; Poornima Adwani; Girija Vyas
(B) Girija Vyas; Mohinigiri; Vibha Parthasarathy; Poornima Adwani
(C) Poornima Adwani; Girija Vyas; Mohinigiri; Vibha Parthasarathy
(D) Vibha Parthasarathy; Girija Vyas; Mohinigiri; Poornima Adwani

33. Identify the correct sequence of the following world conferences :

(A) Mexico, Beijing, Durban, Cairo

(B) Mexico, Cairo, Beijing, Durban
(C) Cairo, Beijing, Mexico, Durban
(D) Beijing, Durban, Cairo, Mexico

34. Find out the correct sequence of the following organizations :
(A) IAWS; NCW; AIWC, WIA
(B) NCW; IAWS; AIWC; WIA
(C) IAWS; WIA; AIWC, NCW
(D) WIA; AIWC; IAWS; NCW
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30.

31.

32.

33.

34.
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~—~"

)

frefafaa fova gwer o @@ o13wa fafea ST :
(A)  Hfergel, afsT, gs[, FL
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35. Indentify the correct sequence of the following report :

(A)
(B
(©)
(D)

~—"

Towards Equality; Shram Shakti; Platform for Action; National Policy for Women
Shram Shakti; Platform for Action; National Policy for Women; Towards Equality
Towards Equality; Platform for Action; National Policy for Women; Shram Shakti

National Policy for Women; Towards Equality; Shram Shakti; Platform for Action

36. Match the items in List-I and List-II :

List - I List - II
a)  Durban Conference i) Population and Development
b)  Mexico Conference ii)  Conference on Racism
c¢)  Cairo Conference ili) Human Rights Conference
d) Vienna Conference iv)  World Conference on Women
Codes
a b c d
(A) ii iv i i
(B) ii iv i iii
(© iv i i i
(D) i iv i i

37.  Which of the following pair is CORRECTLY matched ?

A)
B
Q)
D)

~—"

(
(
(
(

I.C.Vidya Sagar - Ramakrishna Mission
Durgabai Deshmukh - Arya Samaj

Raja Ram Mohan Roy - Brahmo Samaj
Jyotiba Phule -Andra Mahila Sabha

38.  Which of the following is NOT correctly method ?

Indira Gandhi Bharat Ratna
Mother Teresa Nobel Laureate
Kiran Bedi Megasaysay Award
Ela Bhat Pulitzer Prize

14
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39. Match the women leaders with the movements they participated in :

a)  Sarojni Naidu i) Narmada Bachao Andolan
b) C.XK.Janu ii)  Suffrage Movement
c¢) Medha Patkar iii)  Adivasi Land Restoration
d)  Goura Devi iv)  Chipko Movement
Codes :
a b c d
(A) iv i iii ii
(B) iii ii i iv
© ii iii i iv
(D) i iv ii iii
40. Match the following United Nations Conferences with the year when these were held:
a)  Fourth World Conference on Women i) 1980
b)  Conference on Environment and ii) 1993
Development
c)  Vienna Conference on Human iii) 1995
Rights
d) Second World Conference on Women iv) 1992
Codes :
a b c d
(A) iv iii ii i
(B) iii iv ii i
(©) iii i iv ii
(D) ii iii i iv
41. Match the following Books with their authors :
a)  God of small things i) Vandana Shiva
b) A Vindication of the ii)  Kiran Bedi
Rights of women
c)  Staying Alive ili) Arundhati Roy
d)  Who Dares iv)  Mary Wollstone Craft
Codes :
a b c d
(A) i iii iv
(B) ii iv i iii
© iii iv i ii
(D) iv ii iii i
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42. Match the following Acts with their year of enactment :

a)  Dowry Prohibition Act i) 1955
b)  Equal Remuneration Act ii) 1961
c)  Family Courts Act iii) 1984
d) Hindu Marriage Act iv) 1976
Codes :
a b c d
(A) iv ii i iii
(B) i iv ii i
(C) ii iv iii i
(D) i iii il i
43. Match the following schemes with their objectives :
a)  Mahila Samakhya Yojna i) Girl Child
b)  Apni Beti Apna Dhan ii)  Education
c) Indira Awas Yojna iii) Empowerment of Women
d) Mahila Samridhi Yojna iv) Housing
Codes :
a c d
(A) iii ii iv i
(B) i iv il iii
(©) iv ii iii i
(D) i i iv iii
44. Match the following with their designations :
a) Srimavo Bhandaranaike i) Former Chief Minister of Bihar
b)  Girija Vyas ii) ~ Chief Minister of Rajasthan
c)  Rabri Devi iii) ~ Chairperson of the National Commision

for Women

d) Vasundhara Raje Scindia iv) First Woman Prime Minister of the World

Codes :

a b c d
(A) ii i iv iii
(B) iv iii i ii
(C) iii i ii iv
(D) i iv iii i
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45.

Match the following Policies / Plans with the year in which were framed :

a)  National Policy on Education i) 2001

b)  National Policy for ii) 1986
Empowerment of Women

c)  National Population Policy iii) 1988
(Latest)

d) National Perspective Plan for iv) 2000
Women

Codes :

a b c d

(A) i iv il iii

(B) ii i iv iii

(©) iii iv ii i

(D) iv il i iii

Read the following paragraph and answer the questions 46 -50 :

“ Actualy there is no historical evidence of the existence of matriarchy anywhere.
Sometimes people confuse matrilineal or matrilocal systems with matriarchy. What
existed amongst the Nairs of Kerala was matrilineality and matrilocality. It is important
to distinguish between these terms. In a matrilineal Society, the lineage is traced through
the mother, i.e. property passes from mothers to daughters. Such communities may
also be matrilocal, i.e. the husband comes to live with the wife who continues to live in
her own home. Although the position of women is much better in matrilineal and
matrilocal societies, they are still not matriarchal. In a matriarchal society, women
would be in a dominant position, in control of state power, religious institutions,
economic production, trade, etc. Even in matiarchal societies real control is in the
hands of brothers and uncles, but there is no denying the fact that the status of women
in such systems is far higher than it would be otherwise. The matrilineal, matrilocal
system which existed among the Nairs of Kerala and in the North - East of India has
been weakening and disappearing under the pressure of patriarchal ideology, legal
systems which have displaced customary and community diversity and the
pervasiveness of “modernity” which demands uniformity. Their existence, however,
proves that there can be and have been different ways of organising families, inheritance,
residence, labour, etc. and that there is nothing fixed or immutable about a particular

order. It is after all, man made not pre-ordained.”
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Given below are multiple choice questions, Please select the correct answer :

46. Matriarchy implies :
(A) Rule of the father (B) Rule of the mother

(C) Rule of the grandmother (D) Rule of the son

47. In a matrilineal society, property passes from :
(A) Mothers to daughters (B) Fathers to daughters

(C) Mothers to sons (D) Fathers to sons

48. Society in India is :
(A) Matriarchal (B) Patriarchal

(C) Matrilineal (D) Matrilocal

49. Matrilineal Societies exist in :
(A) Punjab (B) Madhya Pardesh

(C©) Rajasthan (D) Kerala

50. In a partriarchal Society, women are :

(A) Subordinated (B) Empowered

(C) Dominant (D) In control
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47.

48.

49.

50.

FrAfaiEa og-fasweda U9 §1 37 § | Hel ST Rl Ta it |

TG JU A | Ay ©
(A) Taar = afeae (B) HII =l 3Aferde
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(A) HI-9EME FHS (B) Tug-gum &=
(C) HIg-FHedra HHS (D) HIg-%ATh
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(C) TS (D) &
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J—7405 23

P.T.O.



Space For Rough Work

J—7405 24



